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Unit 2 Practice Test

1. The figure shows lines r, n and p intersection to form angles numbered 1, 2, 3, 4, 5, 6. Three lines lie in the
same plane. Based on the figure, which of the individual statements
would provide enough information to conclude that the line ris

f perpendicular to line p?

A. m<2=90°

@. m<6 = 90°

C. m<3=m<§6

g
@\ D. m<1+ m<6 = 90°

m<3 + m<4 = 90°

R B0 fal ©m<4 + m<5 =90°

2. Write each form of the conditional statement and indicate whether each statement is true or false. If false,
provide a counterexample.

If two angles form a linear pair, then they are supplementary.
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3. Find the next term in the pattern

Sl
SMTW T 1, 8, 27, 64, ig\)

What type of reasoning did you use in the problem above? Select one.

@ m? B. Deductive C. Conductive D. Reductive E. Productive
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4. Circle yes if you can assume each statement based on the picture on the right, and circle no if you cannot.
BA, DC, FE and GH are lines. “||” means “is parallel to”".

2AG = GH £Yes ) No
—/ & ?B 5 *F-’

G is a midpoint Yes Sdor

A, C, E are collinear Yes
C, |, D are collinear Yes ) No G |

thesl +_ +—s H
<GID and <DIH are supplementary(@ No -_l“T

| is a midpoint Yes No ‘ SN
P N

—
i

i
m<GID = m<HIC Yes) / No

AB || FE Yes (-I\D ' ’

AB || DC @ No ¢

Line AB is perpendicular to line GH Yes CNTD ,ﬁ
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2 (5x-2y=6 ) —> S ~Gy - 14 %1420

5. Solve for x and y using any algebraic method.
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6. Use the picture for (a) and (b). Circle all the words that can be used to describe the given angles.

(a) Angle A and Angle D

Linear Pair Vertical Angles / @

Supplementary Adjacent Acute

Perpendicular ( (;);@ Complementary

(b) Angle E and Angle F

=
@"‘ Vertical Angles Congruent Supplementary_ @'@_@rﬂ_/

Acute Perpendicular Obtuse Complementary Coplanar >

7. Given the picture of the two intersecting lines and expression for the measures of angles CEA, AED and
DEB in degrees, find the measure of the three indicated angles.
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8. Find the mrdpomt and length of segment B(-12, 6) and C(-3, -4). 7 4,1
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9. Fill in the blanks for the proof.

Given: KH bisects <GKJ
Prove: m<9 = m<10

10 11

Statements Reasons
' - { . /" ,
CH bigocty L GKJ ey
A AR, LI o) Definition of an Angle Bisector

<9 and <12 are a linear pair
<10 and <11 are a linear pair

Definition of a Linear Pair

m<9 + m<12 = 180
m<10 + m<11 =180
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Transitive Property

m<9 + m<12 =m<10 + m<12
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ML =0
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Given: B is the midpoint of segment AC A " ", "
C is the midpoint of segment BD
Prove: AB = CD
Statements Reasons
B¢ h\{_ 1/14.(4’1);-,;,‘4 o T Clvvn,

\

C e .’K"L(" MI{fff"’?Qfﬂ;\} of BD

C-’/’!Ww

= * / o - .y /
e D#’ .*ff vilbhon 0l g gl J,!”?"If “/
&L= D Definition of a midpoint
BC =BC

AB=(D

fzfi;#f L{’.M L /?' 95}7?’6/;7

G )'/‘5'7’{1 f—-, J-i brsy




